Software Engineering, CPSC-4360-01 and CPSC-5360-01
Tutorial 3 

Exercise 1. (slide 30, Lecture 3) Redraw the use case diagram of Restaurant booking system project without the ‘Staff’ actor and making no use of actor generalization. Do the two versions of the diagram describe the same facts, from the point of view of the restaurant’s operations? Which diagram do you find clearer and easier to understand?

[image: image1.png]A

Receptionist

—— (Record booking )} «
.

N
\

\
N <<include>>

\
N

Head Walter

/
——— { Recordarrlval ) +

,
h

3
P

/
/
/

,/ <<include>>




Exercise 2. (slide 26 of Lecture 3) Extend the description of the ‘Record booking’ use case to cover the situation where the receptionist tries to double-book a particular table. Would this be an alternative or an exceptional course of events? 

Record Booking: Basic Course of Events (revised)
· receptionist performs Display Bookings;
· receptionist enters details;
· system records and displays new booking.
Exercise 3. (Case Study 2) Perform the following activities for Case Study 2, i.e., The Monopoly Game (introduced in Lecture 3).
a) Draw a use case diagram and write use case description for basic course of events. Identify any possible alternative or exceptional course of events.
b) Construct the domain model. 
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